
 















The JIT compiler is the rear-end compiler   

 
bytecode translation makes sure the translating will be 

completed on time，so as soon as it gets bytecode,it 

will start translating line by line . 

JIT is the second translation of the whole program.It is 

supposed to translate the bytecode to machine-code，

and the next step is to save the most frequent machine-



code in the method area so it can be called quickly next 

time。

zero-address means zero address and one operate 

number. 

To complete the same mission，Stack 指令集小但是指

令多；register指令少 

What’t more,stack is  8 bites,while register is 16 bites









classical VM only has interpreter but no JIT,although it 

does work without JIT,the efficiency is really low,so 

finally we have JIT. 

If there is only interpreter,we will have to wait every 

start of a segment,so now we use the interpreter in 

combination with JIT,and it is like,bus\wolk\bus\wolk…



 



MissionControl is used to monitor memory leaks,SUN 

company had tried a lot to combine the missionControl 

with JDK,cause these two parts have so many 

differences,the combination is really difficult. 

 

 

 



 

 

 

 



AOT:files skip the step of translating into bytecode,they 

turn into machine code directly. 

 

 

 


